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 MULTIPLE CHOICE QUESTIONS: 

 Q1: The value of 2-2 is: 

  A. 4 

  B. ¼ 

  C. 2 

  D. ½ 

 

 Q2: The multiplicative inverse of 7-2 is: 

  A. 72 

  B. 7 

  C. 1/72 

  D. 1/7 

 

 Q3:  22 x 23 x 24 is equal to: 

  A. 224 

  B. 2-5 

  C. 29 

  D. 2-9 

 

 Q4: The value of (34)3 is: 

  A. 3 

  B. 312 

  C. 37 

  D. None of the above 

 

 Q6: 1000+200+50 is equal to 

  A. 125 

  B. 25 

  C. 1/125 

  D. 3 

  

 

  



 Q7: If (–3)m+1 × (–3)5 = (–3)7, then the value of m is: 

  A. 5 

  B. 7 

  C. 1 

  D. 3 

  

 Q8: What is the value of (22 + 32 + 42)0? 

  A. 9 

  B. 0 

  C. 1 

  D. 14 

  

 Q9:  1.8 × 1011 is equal to: 

  A. 180000000000 

  B. 18000000000 

  C. 1800000000 

  D. 1800000000000 

  

 Q10: 0.09 × 1010 is equal to: 

  A. 900000000 

  B. 9000000 

  C. 9000 

  D. 9 

 

 

 

  


